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Hi. 
We made two mistakes in explaining the step function of ARIRANG in page 15 and 25.
So we would like to corret the mistakes. For corrections, see the pdf file
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Seokhie Hong.(A submitter of ARIRANG)
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ARIRANG Designed by CIST

1 Correction of ARIRANG

We made two mistakes in explaining the step functions of ARIRANG hash functions. Thus we
correct the mistakes.

Table 1: The first correction : ARIRANG256 StepFunction (page 15).

Original version (wrong)

ARIRANG256 StepFunction(Wσ(2t), Wσ(2t+1), a, b, c, d, e, f , g, h)
{

T1 = G(256)(a ⊕ Wσ(2t));
b = a ⊕ Wσ(2t);
c = b ⊕ T1;
d = c ⊕ (T1 ≪ 13);
e = d ⊕ (T1 ≪ 23);
T2 = G(256)(e ⊕ Wσ(2t+1));
f = e ⊕ Wσ(2t+1);
g = f ⊕ T2;
h = g ⊕ (T2 ≪ 29);
a = h ⊕ (T2 ≪ 7);

}

Correct version

ARIRANG256 StepFunction(Wσ(2t), Wσ(2t+1), a, b, c, d, e, f , g, h)
{

a = a ⊕ Wσ(2t);
T1 = G(256)(a);
b = b ⊕ T1;
c = c ⊕ (T1 ≪ 13);
d = d ⊕ (T1 ≪ 23);
e = e ⊕ Wσ(2t+1);
T2 = G(256)(e);
f = f ⊕ T2;
g = g ⊕ (T2 ≪ 29);
h = h ⊕ (T2 ≪ 7);
T1 = a; a = h; h = g; g = f ; f = e; e = d; d = c; c = b; b = T1;

}
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Table 2: The second correction : ARIRANG512 StepFunction (page 25).

Original version (wrong)

ARIRANG512 StepFunction(Wσ(2t), Wσ(2t+1), a, b, c, d, e, f , g, h)
{

T1 = G(512)(a ⊕ Wσ(2t));
b = a ⊕ Wσ(2t);
c = b ⊕ T1;
d = c ⊕ (T1 ≪ 29);
e = d ⊕ (T1 ≪ 41);
T2 = G(512)(e ⊕ Wσ(2t+1));
f = e ⊕ Wσ(2t+1);
g = f ⊕ T2;
h = g ⊕ (T2 ≪ 53);
a = h ⊕ (T2 ≪ 13);

}

Correct version

ARIRANG512 StepFunction(Wσ(2t), Wσ(2t+1), a, b, c, d, e, f , g, h)
{

a = a ⊕ Wσ(2t);
T1 = G(512)(a);
b = b ⊕ T1;
c = c ⊕ (T1 ≪ 29);
d = d ⊕ (T1 ≪ 41);
e = e ⊕ Wσ(2t+1);
T2 = G(512)(e);
f = f ⊕ T2;
g = g ⊕ (T2 ≪ 53);
h = h ⊕ (T2 ≪ 13);
T1 = a; a = h; h = g; g = f ; f = e; e = d; d = c; c = b; b = T1;

}
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